
11C-P12M1-0212-0 37

33. Wiring Diagram

* Wind SI bundled wire
units 1 and 2 once.

Note) No slack of bundled wire.

Note) No slack of bundled wire.

SKB-100PR

HD-LNA
056-10330

C
N

2
C

N
1

CN3

CN4

C
N

19

OCB-1000

Switch angle
11C-6025

Brass screw M4
with SW

3308

Sky blue,
Pink, Blue

Sky blue, Brown

Yellow, Brown

Brass screw M4 with SW

Purple, Pink, Blue

PH angle
11C-2180

Photointerrupter
98R-8023

Brass screw M4 with SW

Brass screw M4
with SW

3305

Bundled wire unit 5
11C-8331

Bundled wire unit 5
11C-8331

Photointerrupter
98R-8023

Bundled wire unit 12
11C-8317

OP bundled wire unit 2
11C-8309

3302

3303

Photointerrupter
98R-8023

Power switch
054-10302

3304 3305

Brass screw M4 with SW

Brass screw M3
with SW

Brass screw M4
with SW

Brass screw M3
with SW

C
N

15
C

N
11

CN13
CN1

STU bundled wire unit
11C-8312

CN1

Brown

Yellow

BJU bundled wire unit
11C-8311

To bundled wire unit 5

CN16
CN12

3305

Switch
054-10259

C
N

10

CN7CN6CN5

3304

Switch angle
11C-6025

CN2

Spacer
056-10970

To switch

OP bundled wire unit 2
11C-8309

OCB-1000

Switch
11C-8410

3304

3306

Switch
11C-8410

056-11016
Collar

(TA-314)

056-00778
Bush

(TB-300)

Details for  J

Bundled
wire unit 5
11C-8331

Bundled wire unit 5
11C-8331

Emergency
stop switch
054-10312

Microswitch
054-10115
(AM51664C54)

Gray

Yellow

Details for emergency stop switch
Emergency stop switch
054-10312

Label
056-11220

248

Angle F
11C-4022

Stacker table
11C-9620

Angle B
11C-4023

AL cable clamp
056-11114

ST cable unit 3
11C-8370

Angle
11C-4032

Motor
11C-8104

Details for  A

SKB-1M

1197

PH angle
11C-2180

248

OCB-1000

Motor
11C-8102

OCB-1000

Frame B
11C-9605

OCB-1000

Bottom plate
11C-6007

Photointerrupter
98R-8023PH angle

11C-2180

SKB-100PR

248

Frame F
11C-9604

OCB-1000 Frame B
11C-9605

1F55

Power switch
054-10302

OCB-1000

1197

OCB-1000

Photointerrupter
98R-8023

PH angle
11C-2040

Photointerrupter
98R-8023

Counter unit
99J-8103

OCB-1000

DC solenoid
11C-8105

OCB-1000

Motor
98Y-8516

Photointerrupter
98R-8023

PH angle
11C-2180

Photointerrupter
98R-8023

0248
Motor
11C-8101

Motor
11C-8101

3303

OCB-1000

Motor unit
11C-8103

Frame F
11C-9604

Motor bracket
11C-6323

ST P.W.B. unit
11C-8031

MC unit
11C-8040

1197 3305

SKB-1M

Base plate
11C-1310

Bundled wire unit 5
11C-8331

Bundled wire unit 5
11C-8331

Bundled wire unit 5
11C-8331

Bundled wire unit 12
11C-8317

SKB-100PR

Bundled wire unit 6
11C-8306

3305

Bundled wire unit 6
11C-8306

Bundled wire unit 6
11C-8306

OP bundled wire unit 1
11C-8308

Bundled wire unit 3
11C-8303

STU bundled wire unit
11C-8312

Details for right side

Cable clamp3306 056-09005

Bundled wire unit 4
11C-8304

Photointerrupter
98R-8023

BJU bundled wire unit
11C-8311

Bundled wire unit 5
11C-8331

Bundled wire unit 1
11C-8301

SKB-100PR

OP bundled wire unit 2
11C-8309

Bundled wire unit 5
11C-8331

Frame B
11C-9605

BlackGray

Power switch
054-10302Details for  G

Microswitch
054-10115
(AM51664C54)

3302

056-090073308 Cable clamp

056-07006
056-10211

Switching power supply
11C-8021

1197

SKB-100PR

Yellow

3303

PH angle
11C-3605

Gray

RL P.W.B. unit
11C-8035

Brass screw M4
with SW

Bundled wire unit 2
11C-8302

Sensor bracket
11C-1631

248

Toroidal
clamp core
052-10065
(MTFC251512)

PH angle
11C-2180

248

SKB-100PR

OCB-1000

SKB-100PR

3303

Cable clip

056-09002

OCB-375 Bushing 056-10027
056-00003

056-09001

056-10282

056-09003
056-09004

056-07008
056-07007

056-10164

SKB-100PR
SKB-1M
4253

Name No.

5076

Type No.

248

1197

3305

Push mount ties

OCB-500

RM unit
11C-8013

1F55

Clamp filter
052-10016
(ZCAT2035-0930A)

Clamp filter
052-10016
(ZCAT2035-0930A)

SI bundled wire unit 2
11C-8337

4253

Microswitch
054-10115
(AM51664C54)

SKB-100PR

Photointerrupter
98R-8023

Sensor bracket
11C-6216

SI bundled wire unit 1
11C-8336

Details for bottom plate section

Frame F
11C-9604

Cover LD
11C-9618

Details for microswitch

D
U

P
LO

 U
N

IT 98R
-8099

Sensor bracket
11C-2001

98R-2004

98R-2005

Details for stapler unit

ST P.W.B. unit
11C-8031

Note) Secure the
copper plated
part with the
AL cable clamp.

Details for  K

Sensor bracket
11C-3651

4253

Details for  C

DC solenoid
003-80589

OCB-375

NC

Stepping motor
99A-8013

Photointerrupter
98R-8023

Stepping motor
99A-8013

PH angle
11C-1629

Spacer

Cable clamp
3304

98R-2004

98R-2005

Sensor bracket
11C-2001

View of  a

a

Details for  H

Details for microswitch

Electromagnetic clutch unit
11C-8106

SKB-1M

Photointerrupter
98R-8023

Switch
054-10259

Yellow

Details for left side

Clutch bracket
11C-4515

Photointerrupter
98R-8023

Stepping motor
99A-8013

Angle
11C-1367

OP unit
99J-8015

Brown
Microswitch
054-10115
(AM51664C54)

NC
COM

Details for  E

056-00876

Base
11C-3603

248

056-10622

Bushing

Cable clamp

Bushing

Cable clip
Cable clip

Cable clip
Cable clip

Cable clamp

3306

Cable clamp
Cable clamp

SK binder

3304

OCB-1000

3302

Details for   I

Photointerrupter
98R-8023

Stacker table
11C-9620

Stepping motor
99A-8013

PH angle
11C-1311

Switch
054-10246

3302

Brown, Gray

Frame B
11C-9605

OCB-375 PH angle
11C-2040

Photointerrupter
98R-8023

Angle B
11C-4023

Photointerrupter
98R-8023

Sensor base
11C-3650 Plate

11C-3644

Stepping motor
99A-8013

OCB-1000

OCB-500

Switch
054-10271

Bracket
11C-3604

Spacer
056-11137

Bundled wire unit 5

3304

SKB-100PR

Frame
11C-1304

Sensor bracket
11C-1350

Bundled wire unit 5
11C-8331

Attach the brown and gray connectors to DC solenoid.

Brown,
Yellow

3305

5076

3305

3303
3304

1197
5076248

3302

Bundled wire unit 6
11C-8306

248

248

1197

248

3302

3303

OCB-1000

Details for  D

Details for  F

Details for  B

Bracket
11C-3604

COM

2

1

I

J

H

B

G

K

C

F

D

A

E

11C-85231

Note) Adjust the clamp angle so that the bundled
wire does not touch the index disc.

*Face the protruding part
inside and then tighten.

* Apply screwlock to the
screw tip and then tighten.
However, the screwlock
must not spill out at the
back.

NITTO SEIKO
3 types of tap-tight
(B tight) screw M2 x 3.5

Stapler unit

*Lead wire should not be
too taut when the stapler
unit is moved up and down.

Stapler unit

Holder
Holder Note) Insert a spring

washer and
secure.

Note) Attach the power switch
and switch angle in the
color-order and direction
shown in the figure.

Note) Attach the bundled wire unit SKB-1M
at the position shown in the figure.

OCB-1000

056-11137

11C-8331




